ghipsmall

Chipsmall Limited consists of a professional team with an average of over 10 year of expertise in the distribution
of electronic components. Based in Hongkong, we have already established firm and mutual-benefit business
relationships with customers from,Europe,America and south Asia,supplying obsolete and hard-to-find components
to meet their specific needs.

With the principle of “Quality Parts,Customers Priority,Honest Operation,and Considerate Service”,our business
mainly focus on the distribution of electronic components. Line cards we deal with include
Microchip,ALPS,ROHM, Xilinx,Pulse,ON,Everlight and Freescale. Main products comprise
IC,Modules,Potentiometer,IC Socket,Relay,Connector.Our parts cover such applications as commercial,industrial,
and automotives areas.

We are looking forward to setting up business relationship with you and hope to provide you with the best service
and solution. Let us make a better world for our industry!

Contact us

Tel: +86-755-8981 8866 Fax: +86-755-8427 6832
Email & Skype: info@chipsmall.com Web: www.chipsmall.com
Address: A1208, Overseas Decoration Building, #122 Zhenhua RD., Futian, Shenzhen, China

iy [0



7 6 4 3 2 |
_ No. DESCRIPTION MATERIAL |QUANITITY) NOTES
*
* ALUMINUME
o | CABLE COVER (A) DIE CAST |
M
~M
> 2 CABLE COVER (B) AB}"EMICN,ESMTE !
So
)
g 3| CROSS RECESSED HEAD SCREW STEEL 2 | M25x311
a
4 HEXAGON NUT STEEL 2 M2.5
. 5 [CROSS RECESSED HEAD SCREW STEEL 2 M2.5X 10
- 6 CRAMP SPCC-SD I 1=0.6
7 |CROSS RECESSED HEAD SCREW STEEL 2 M2X6
(C)
)
D NOTE.
L QUBBONITHILD ¢ 7 —2 8 (M2.5% 10) :5~5.5Kgf- cm
Recomended screw (For case ass'y)
tightening forque S —TJ)L 05 A (M2x6) 3~ 3.5KgT-cm
(For cable cramp)
T TIEER (M2.5x3 1. 3~ 3.5Kgf. cm
(For fixed with receptacle conn.
o
&) s
=z
=
<<
o
a
Lo
=
(@8]
A
=
E
S @12 MAX. 13.9 | 33.81 | 37.11 54331-1261 26
5 13.9 30 33.3 54331-1201 20
x T—JILNEBEEOR
g (A) (12.7) CABLE DIA. C B A ENG.No. CKT
= . Wi ™\ MOLEX-JAPAN CO.,LTD.
%) F %VISWZNO-GZN)H' < [[sov s SEE TABLE "e_le/xE*:E Ly IR H
é 2 ORIIR E %vls? (31457 T {9050
% D D %lg D305z V-Te, e p.I'NJ[:Sg REVISE ONLY ON CAD SYSTEM
= . E YK FEY A TITLE B
z BB ANGLE = | C| gy W09080LZwpven il Rt~y l.27mm PITCH 1/@ CONN
30 Glek w3 | B| Z,& weorse I s maag CABLE HS'G ASS’Y g
= 05k 30 Ttk | 02| A | E,F 090537 E o] D> TANCE N
= 2 UNDE REVISED : DRAWN BY CHK'D BY ©
- 0 Kk w2 | Q| HSLEERD9azan| K hwena| Y. KAWASAK] Y% | DWG. NO. SD-5433 |- x| REV |m
B2 S ZEAB OR. F |APP'D RE o Flg
ceneral i dRancEs | TR | REVISTON HECORD k. G SCALE (SHEET | OF 2) 3

o

THIS DRAWING CONTAINS INFORMATION THAT |S PROPRIETARY TO MOLEX(JAPAN) AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
FREBEEFEL Y IR (K) OFBEIDERESLENT SHOFTLGLEHERE LT D

4

3 \

2

EN-O‘IC(GBZ)MXJ-BZ

=



7 6 ‘ 5 4 3 2 |

SD-54331-1%=|

DWG. NO.

DIMENSIONS IN METRIC DO NOT SCALE DRAWING

MM

$5433153.00N

No. DESCRIPTION MATERIAL [QUANITITY NOTES
ALUMINUME
I CABLE COVER (A) DIE CAST I
2 CABLE COVER (B) A'E‘)}JEMICN,ESMTE I
3 CROSS RECESSED HEAD SCREW STEEL 2 M2.5X3 1.1
4 HEXAGON NUT STEEL 2 M2.5
5 |CROSS RECESSED HEAD SCREW STEEL 2 M2.5X 10
6 CRAMP SPCC-SD I 120.6
&) (€) 7 |CROSS RECESSED HEAD SCREW |  STEEL 2 M2X6
|
1 )
I [ ] NOTE.
, = L RUIBDETRILT ¢ T— 2 (M2.5% 10) 15~ 5.5KgF. cm
1 Recomended screw (For case ass'y)
= tightening torque /7 — 7). 05 JA (M2x6) 3~ 3.5KgTf. cm
1 (For cable cramp)
\ T IEER (M2.5%31.1) 3~ 3.5Kgf. om
— ! (For fixed with receptacle conn.)
@ |
© ‘
0360
X 3| C
‘ B L
i | | 216 MAX 18.0 |49.05|52.35| 54331-1501 | 50
: 18.0 | 40.16 | 43.46 | 54331-1361 | 36
(2.7 T—ILNEEEVUR
(A CABLE DIA. c B A ENG.No. CKT
fﬁ\ﬁmu /~ "\ MOLEX-JAPAN €O.,LTD.
SEE TABLE Mol XexELy IR MRARR [
3 BAFIR
=2 2V gtmt[sg T?E\(LSE%?:LY ON CAD SYSTEM
%LZANCLE = ik L.27mm PITCH 1/@ CONN
304 03 BEIE CABLE HS'G ASS'Y
10 5k 30 R, |02 ;';iWTqA'LiE CHK'D BY ;
10 ik w2 | Q| HBUER D244 | K tswena| Y.KAWASAKI 4’%"" DWG. NO. SD-54331- s+ | REV
—ﬂ%/\ TS TBAB DR,  |APP'D RE 2-1 F
el dances | IR | RevESon RECORD Chik Rl SCALE (SHEET 2 OF 2)
THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX(JAPAN) AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

FAHERBEFEL VIR (K) OFBI2EREBSLENT LHOFT G HERER LT B, EN-QIC(@32)MXJ-32
7 6 5 4 3 | 2 ‘ |

=



	Contact us

